REV
| A=770WA-2 %
. REVISIONS RELEASED
@ LOCATION OPTIONAL |_“ AA /PM A = —— DATE | APPROVED
5.19 MAX ¢.266+-010 _ 2 MTG. HOLES z <
* / .000 = P |32086 | REDRAWN, FIND NOS 19 & 20 ADDED 97/03/04| ==
- 4.563 FOR ELECTRICAL BONDING EXPOSE BARE METAL BY SANDING R [32275 | TOL, 2 PLC WAS .06, 3 PLC WAS %.010 |97/03/06| — —
4.06 MAX / BOTTOM OF BOTH MOUNTING SURFACE AND SPOT FACING .50 WAS .37 =S
TOP OF MOUNTING HOLES 7/16 DIA
b te—o1.50 1,62 _
/ CONSTRUCT ION NON-METALL IC BASE, GASKET SEALED
éVENTED)‘ CLASS A5, TYPE II/MIL-R-6106E
XCEPT AS NOTED
MAIN CONTACTS
CONF I GURAT | ON SPST N.O. SIDESTABLE
TT. T_L VOLTAGE (NOMINAL) 28 VDC
L 1 CURRENT: RES, 300 AMP
5, 7% AUXIL | ARY CON%J\S%RE 3000 AlP
< }
=34 H—¢ CONF | GURAT 10N 9PST NO MO—y v—0 »
3 1‘ ! VOLTAGE éNOMINAL) 28 VDC
& L] CURRENT RES 5 AMP e
5] IND. 5 AMP >
% (D) LAMP 3 AWP
< COIL DATA
, DUTY CYCLE INTERMI TTENT
NOM COIL VOLTAGE 28 VDC
PICKUP MAX. 16.0 VDC AT 25°C ,
¢ DROPOUT VOLTAGE 1.5 VOLTS TO 5.5 VOLTS AT 25°C '
8-32_UNC-2A RES ISTANCE 56 OHM +20% AT 25°C '
4 STUDS CURRENT .625 AMP MAX AT 25°C
378-24 UNF-2A ENVIRONMENTAL DATA . )
2 STUDS 10-32 UNF-2A AMBIENT TEMP. -55°C TO +71°C

VIBRATION: SINE

0.06" DA FROM 10 TO S5 HZ

2 STUDS \CCELERAT N 10g FROM 55 TO 500 HZ O
DEE) O OO © e £33l £ 00 b e e
O ORI 4o o =p;000 crcles i
WE | GHT MAX. 2 LBS.
Q -
_ " l 20 | 1 39529-044 | OVERLAY-WIRING DIAGRAM
J, 1] 4 78 \ 1 19 1 39529-001 OVERLAY-NAME PLATE
' B 7 3 18] 1 | 39529-024 | OVERLAY
_L__% . »: 40__f . 17 | 1 | 58400-093 | PLATE-FAA/PMA
' T 16 | 1 | 25695-001 | PLATE-WARNING
E 15 4 51200-020 | SCREW-NO 4 X 1,/4 SHEET METAL S. STEEL
~ 14 1 24320-001 PLATE-WIRING DIAGRAM
o 0 13 2 51810-031 WASHER-LOCK,No.10 X.377 X.047 SP AN935-10 STEEL
o 12 | 4 51808-021 WASHER-LOCK,No.B X.296 x.040 SP AN935-8 STEEL
S 111 2 | 51807-071 | WASHER-LOCK, 3/8 X .688 X .094 SP AN935-616 STEEL
' 10 4 51702-431 WASHER-FLAT, 3/8 X 11/64 X .032 AN960-8 STEEL
* 9 2 51704-161 WASHER-FLAT, 5/8 X .390 X .062 STEEL
— N — - 8 2 51702-851 WASHER-FLAT, 7/16 X 13/64 X .032 STEEL
| 7 2 50410-061 NUT-10-32 X 3/8 X 1/8 HEX AN345-10 STEEL
6 4 50408-081 NUT-8-32 X 5/16 X 3,32 HEX STEEL
VENT (LOCAT]ON 0PT|ONAL) 5 2 50407-141 NUT-3/8-24 X 9/16 X 9/32 HEX AN315-6R STEEL
@ m LOCATION 4 | 1 | 19164-040 | CONTACTOR ASSEMBLY-PRIMARY
OPT IONAL S 1 16043-001 PLATE NAME
NOTES: 2 | 1 | 15749-001 | PLATE-BASE COVER
1. THE CONTACTOR SHALL CONFORM TO THE REQUIREMENTS OF MIL-R-6106E 1 | 1 | 15749-002 | PLATE-BASE COVER
TO THE EXTENT SPECIFIED HEREIN. FIND [ QTY | PART OR NOMENCLATURE OR FSGM | DRAWING OR MATERIAL
2. F(H)RMAL VE$ (l) F }CATION OF COMPLIANCE OF THIS DRAWING TO Mcl) L-R-6106E HO | ReD/| IDENTIFYING NS DESCRIPT ION NO | SPECIFICATION OR NOTE
SHALL BE HE EXTENT SPECIFIED BY HARTMAN DOCUMENT NO. QR-531AM. NLESS OTHERVISE SPECIFIED
3. THIS UNIT IS SIMILIAR TO THE QUALIFIED A-770F. DIKENSIONS ARE IN INCHES HARTMAN FLECTRIGAL MAI\JK,EQELTDUROU,\JOG
(SEE TEST REPORT #141) TOLERAGES 0 :
5. MATERIAL IDETIFICATION: : .03 |t .015| =1° | CAK BY |Bs |97203/19
TERMINAL BASE - GLASS MELAMINE PER MIL-P-15037C ENGR 'Zlb/fw/ 300 AMPS 28 VDC
BASE COVER PLATE - GLASS MAT POLYESTER PER MIL-M-14F MEG CE 7k 093
6. COIL IRANSIENT SUFPRESSED TO 142 VDG MAX BY (2) 1N4972 JAN OR L Sl il
. ANS | SUPPRESSE + MA JA
HIGHER ZENER DIODES, STARTING WITH S/N CH57770" conTR 10 C |74063 A-770WA=-2
SCALE _NONE | [SHEET




